
������������	�
�����
���
�
	���������
	�����	��
����
�����	���	����
�����	
���	��
�����
����	�����	����
�����	�������������	�����	��
�

�
�������

�����

��
�����	�
�����������������������	�
����������
���
� !�"
#
	
����
�������
������
���
���
� ! �

��������	
�������
�	�������������������������	�������������	���������	��������������
��� ��	����� ��� � ��	����� ��� � ���
���	�� � ���� � �� � ��
�����	�� � �� � ����	
	���	�� � �����	
 � �
�����	�	�������	���	���	�����������	������������������	���������	������������	�	�������
���
���	�������

�� � ��
�����	�� � ������	��� � � � ����� � �������	�� � �	���	����� � ��� � �����	��
���������������	���������������������������������	
	����������������������	�	������
���
���	������

�� �����	
	���	�� ������������	��� ���� � �	�� ��� � ������� ��� � ���������� ���� ���	
�����
�����������������
�����	���� �������������	�	����������������	�������������������������
����	����������
�����	�����������
�	�������������������	���!���������������������	�	��
��"���������������������#���	����������������� ����������������	����$� 	�����	�������
���������	�������������	�����������������������������������	���������������	
����
!%���� ��
�����	�� �&���
��	���	�� �
��������' ��� ����� ��������� � �� ������� ���$ � �� ����
�������$ ���	���
���� ��� �������������
�����	�� ������ ������	�����������
����������#
���	������

(��� ��������� �� �
�	������ ������������	������������� ������	���	������	� ������ ��	���
�)������	����������
	�	�$��)������	��	��������*���������������������������������	�����
�����	���������������)���������	����������������	
����	�	������)��
��	��������	
	������$
������������
������)	����
	�	�������	��������������������������	��	�	��������	����	���
�����	������)��	
�����+�������	���$���	����$�,-�

�



�
!./0!1�!�

�

�
(2 3/��

�
4*/1 5�(!��*1 67�!�

�
(*�89!1 5�

�
9*(3�/ 25�

�

�
�/!8�

�
:��(	����	�	��������
��	���	��$�����	����
����������	�	������
�����	���

�
(:
�

�������������������;����
����
����	�����������������
���	�������������������
��������������������������
���������������	���
���������������	�����
+������������	

���
���

�	���-��
�

������������	�������
��������������;��������

����	������������������
���	�����������������	�������
����������������������	

���
���

�	������������������
�����	���
���������������	������
�

(�������	��������������������
��������������������
��������������;��������

����	������������������
���	�����������������	������
���������������������������
������������������������	���
���������������	������
�
����
	�����������������
��������������;��������

����	��$����������������
���	�������������	��
������
���������	����	������������
����������������������
�����	���
���������������	������
�

(�������	�������
�������������
�������������
�
�
<	��������������
�

�
(��������	���
�

�
5	�
��
�

����� � ��	
���� � ������ � �����
�	� � ��� � 	������������� � ������ � ��� � ���� � 	������ � ��� � �� � ������ � �� � �� � ��	

�� � ���

�	��� � �� � �����	��
���������������	�����

!�������	�	���� ����=
/���������������������������������;��������
����	���������������������	����������;�	����������;���������������	����	��������������

������������	

������

�	�����������������������	������������������	�����
!������������ ����=

/������	�������������������	�������������������������������������������

�



�
%��3����"�����	����
����	������

�%�:��4��	�	������������
��

(%�
�

3����"�
��
���������������
�����	����
�

��������������������������
����������������=
��#����	����	����
��#����#
��	���	����>
��#���������������?�����
���������>
��#���������
	�	�������������
>
��#��������	����������	������
�������	��	���	���>
��#�������	
	���	�������
������	�	������������	���
�������������	�����
��>
�#����	�
�����	��������������
�	����	��������������	����
	���������

	�	����
����������������
	����	���
�������������	��������
��
�
�	�����+�����	���	���$�
���	����
	�$�����������$�
�����
������-���������������
���������	�
�����	���
�������	���

/����	�������������������	�������
���������������������������	���
������@���������	�	������
���������	��$�������������������
������	�������	����	������
�
�
/����	���������������������
��
��������������������	���
���������������	������
�

4����������	�������
�������������������
��������	���������
@���������	�	��$����
��������������	������
����	������
�	����	�����
�
�
4������������
��
���������������
�����	����
�

(��������	���
�

5	�
��
�

!������������ ����=
/������	����������������������	����������������������������������	���������@���������	�	������	������	�����������������������

��
��������������������	������������������	�����

$�		���%���
�����	���
��������
����
��
�������
	�����	��
����
������������
�����
��������
������������
���
���
	��
������
�&

�



�
%��3����"�����	����
����	������

�%�:��4��	�	������������
��

(A�
�

4����	���
���������������	����������
399����4�4$���������������
���������������	��������������
%A������
�������::BC"%BBD�
�

���������	���
���������������
�������������
�����	���������
����
�����	���	�����
�	����������
�������
+399-$����
����	�����
���������
�������������
����
�����������
�������������
�	��������������%A
�����
�������
::BC"%BBD��
�

���������	����	���������������
��������������������
�����	���
���������������	�����
�	���	��������������������
����������399�������4�4�
����������
��������	�����
�������������������	���
���������������	����������
����
	�������
�
�
E��	
	���+����������	������
�-
�������������	���
���������������	������	��
�����������������������
399$����4�4
�

F���������������
���������	���
�	���	�����
�����������
��������������
����������399���
���4�4��������
���
��������	����
�
�
!���
	������������
�������
�

(��������	���G�
�	���������H�
�����	����	�����
�����$�������	���
������	���
�

5	�
��G�
�����	��������
�

������������������������������������	������������������	�������	�	������������������	�����	��������������������������	�����������	�
���	
	����������������	��������������	�������399�������4�4�
�����	��������	
	������H������	����	����������$���	�����������$���������#�	������������	�������399���"�������4�4����	����

!�������	�	���� ����=
(��������	��������399$������4�4�������	�����������

�



!������������ ����=
���������	�������	��������������������������������������	����	���	����������������������������������������������������I���399"4�4

����������
��������	����

!������	����� ����=
�������������������	������������������	���������������������
	������

$�		���%���
�����	���
��������
����
��
�������
	�����	��
����
������������
�����
��������
������������
���
���
	��
������
�&

�
%�%��6����	����
����	������

��
�(J
�

�/�
�����	����
�����	���+<(5����
��	�������-��
�

���������	����������������

����	��������������
�
����

����	������
	��������
����������������	���+<(5-$
����	����	�������������
	�
�����	�����	��	���������
��	�����������������	��������

����	�������������
��������	�����������	����
�����

���������	������	
	�$���
������	������������	���
���������������	����$�
�����������	�����������	���
������������������
	�
�����	���
�

���������	����������������
��������������

����	��������
	�����	���

����	����������<(5��������
�	��	����������������
��������	��������	������
�����������������	����	�����
���������������������
��������	���
�����	���������
�	�����������������	����
����<(5��
5��������������������
����	��������<(5���������
���������	���
���������������	�����
����������������
������������������������
�	��������������%A����
��
�������::BC"%BBD���

�����	������������������

����	�������

*�

����������������
��������	���
����	���������
����	��������<(5��	�����
����
�
<(5����������	���
���������������	�����
���������������	��������
�

�(��������	���G
�	���������A�
�����	����	�����
�����$����
���	����
������	���
�

�5	�
��G�
�����	��������
�

�



���������	�����	� ������	� � 
����	� ��� ���� ������� � �� � 
	�����������������������	�� � +<(5-���� ����� ���������	�� ��������� ������
��	��
�����	�����
�	�����������������	�������	����	����������$���	�������������/����������
	�������������	���������5�	������	�����������<(5��������
�����	�$����������	�����	�����	���������������	������������������	�����������������
����	��������	���	������������<(5�����	���������������
�����	��

!������������ ����=
/������	����������������������������<(5�

!������	����� ����=
����<(5���������������������������	��������	�������	
�����

$�		���%���
�����	���
��������
����
��
�������
	�����	��
����
������������
�����
��������
������������
���
���
	��
������
�&

�
%�%��6����	����
����	������

��
�(H
�

!�
�
�����������������
�����������
����	����
��������	���
���������������	�����
+!E44-������
��
���
���	���������
	�
�����	���������	�����
��������������������
�����	���
���������������	�����
������	�	�������+4418-��
�

���������	��������������
�����������
�
���������
����
����	���������������
���
���������������������
��������	���	�������
�������
����������4418��
!�
���������	���
����	������
��	�	��������
	���������
�����	���
���������������	�����
���������	�����������
��������������!E44����

����	������	�
�����	������
������������������4418

���������	����������������
��������	����)�����	������
����
����	������������
���
������+	��	�	��������
�������	
-�������������������
�����	���	�������
�������
����	�������
�����	���
���������������	��������
����4418
*�
/����	������������	���
����
�
����������

����	����������
���������	�����������	���
	��������������
��������

9���	�������
�
������
���
����	�������������
�	���	��������
��3(/E3�*6
��
3�������	���
����
�
����������

����	���������������
�������	����	�	
��������	
�
���	��	�	����
!�
(�������������	
	����
�����	����������������
������������������������
�����$���������	������
����
�����������	�������

(��������	���
�

5	�
��
�

�



��������������������	���	���
�����������
���+���=�
3(/E3�*6-�
!�
���������	����������������
��������������	
	�������
����
��	���	���������
�������������!E44����
����������
����	�����
	�
�����	�����������
��������������4418��

����!E44���$��������
�������$�����4418��

��������	
������������������	
����������������������	����������
�
������������������	�������������
����	����������������������������!E44
�������4418�����������	�����	� �������� ��������� 
����	��������� �����#�K������� ���
�
���������������
��������������������� ���
�����	���	�������!E44��������4418��������������������K������������������������	����������
�
���������
����	��������������	�����
���
�����������������������������	���	��������������
������ ���������	 ���3(/E3�*6��4���� ����
����	�������������
�
�����������
���
������$ � ���������	�� �����	� ��� ������	�� ��� ���������� ���� � 
����	������ ��
	� ��� ������L��� � ���� ����
�������� ��������� ��� ���
�����	���	�������!E44"4418�
4�����������������	�$����������	�������������������������������	�	����������	���������
����	����������
����	�������������
���������
�����������������	���	�������!E44"4418�

!������������ ����=
3�����������������	�������
�
�������������
����	�������������	����	�	
�+	��	�	���������������	
-�������������������������+��������������


����	��������������	���������������������	���	����������3(/E3�*6��������������	����������	��-
���������	��������������������������	��������������������
����	�����������������������
�����������������������������	���	������

!E44"4418�����������������������������������������
�
����������
����	������������������
�����������������������������	���	������
!E44"4418�

���������	������������������������������������	
	�����������
��	���	����������������������!E44����������������������	�
�����	������
��	����������	������������	����������������4418���
��	����

$�		���%���
�����	���
��������
����
��
�������
	�����	��
����
������������
�����
��������
������������
���
���
	��
������
�&

�



�
A��5���?�
�����
���	�����������?��

�A�:��6�������������
��������	���������������?�
��
��

�(M�
�

�3���	���	�������
��
��������	�����������
����?�
���
�

����������	�����������������
���������	���	����
�������	��������	����������
��
��������	���/�4!������
������������	������������
�����	��$����
���������
����������������������������
�

E��	
	�����������
������������������
�������������������
�����������������=
�
�#���������	��������	����
����	�����������	���	���
���������
	��������=�
��	��������������K����
�������	���	����������	���$�
��	�	��������������
��	������	���>
�
���������	�
�	�
��
�
��	�
	���
	�	�������
�
�
�����
�������������������
���
�������������������
��
	��������	��
�����	���
��������	����
��
���	�
���
�
��
��	�	
�
�	�
��
�
���
	���
	������������	�
���
��
���	�
�
#���������	��������	��������
���������=��������
�������������	
	�����

5�������=
�
�
#���������	��������	����
����	�����������	���	���
���������
	���������=�
���K�����������	���	���
�������	���$���	�	�����
�����������	������	���>
�
�
#��������	�
�	�
��
�
��	�
	���
	�	�������
�
�
����
�������������������
���
������������������
��
	��������	��
�����	�
�����������	�
���
��
���	����
�
��
��	
	
�
�	�
��
�
���	���
	����
��������	����
��
���	
�

(��������	���
�

5	�
�����
�����	�������
�

�



�����	��������	
	��������������������	�����
����	�������������������������������������	���

!�������	�	���� ����=
�����������������������������������������������������������������

!������������ ����=
���������	��������������������������������	���	�����������	����

$�		���%���
�����	���
��������
����
��
�������
	�����	��
����
������������
�����
��������
������������
���
���
	��
������
�&

�
A�%��4����	�������?���

��
(C�
�

4����	��������#
����������	��������
�����������
���������������	������
�������%A������
�������
::BC"%BBD$�����
���
�������
�

���������	����������?�����
���������	������
��������
�����
��������	������
����?������������������	���
�������
�����������������
��������
�������
����	�	���	����
�
��������������$�
���������	���
�	����	�	�������
�����	����������
�������
�

���������	���
���������������	�����
�������
�����������
����?���������������
���������	������������������
�������������������	
	����
�����������	�	���	���������
�����
	����	�������	
�������
�������������	����������
�
�
/����	������������������
����	�	���	������������	���
���������������	�����
�������
��������

�4�������������	�	���	��
���������	���
���������������	�����
������������������
���������������	�������
�������%A������
�������
::BC"%BBD�����
���
�������
�
F�������������	�	���	���
���������������
����������������������
�������������
�

(��������	���G
�	�����
�

!����	�������
�

	



����� ���	
���� ��������� � ��� ������	�� ����#���
����� �� � �� �������= � �����	� ���399$ ��������������	�����
� ��� ����������
�,�!��� ���
����������������������	��������399��	���	�����������
	����������	������	��������������������������	���������������	���
��������	�	�����������������������	�	���	�������4418����������������� �������	�������%HA#D�����%HA#::�������������������������K���
���	�	���

!�������	�	���� ����=
(��������	������������������	��������#���
���������������?����������������������	��$�	�������������������?����������

!������������ ����=
���������	������������������	��������#���
���������������?�����������������	���������	�����������������������������
	����	���

/������	�������������������������	�	���	������������	������������������	��������#���
������

�
A�A��0���	�����������?��

��
(N�
�

*�
��	���	���������

���	�����������?�����
�����	���
���������������	����
������������������
���������������	������
�������%A������
�������
::BC"%BBD��
�

���������	������	
��$�����
������������	����
���������$����
�������������������?�
��
��	������������������
�	��	�������=
��
#����������������
����
��	���	������
�������	���	����������?�
��
���������	���
���������������	�����
�������������	������+�����
�������?�
�-�>
�#���	��������������������
��������?��+���	����	�	���

3����	������������������
�������?������	����	
	���
�
5����	��	���������
����	�������������
	����
����������������������
�	��	����
�
�
8��������������������
�����L������������?�$���	�
�������������������������
����?������������
�
����������	���
���������������	�����

<	�������������������
��������������������
����?��+������O��-�
	��	�����������O�������
�	��	��������	�����
�
�
4������������	������

���	�����������?���
�
�
!���
	�������������
��
�����������������	���
����������������?�����
�������������	����
�

(��������	���G
�	�����
�

!����	�������
�

�




���������	������������O��-$�
��	����������������
�������	������������	���
���������������	�����

���������	������������
���
�����
���	������>
��#��	�����������������	���
����	�������������	���
���������������	��������
��������������	�����	����
��������������������
��	�����>
��#��	�������������	�	�������
����?�
�����������	���
�����������
��������	�����
�	
����$���������	
	���	�����
�������������	���	�������
������$�����	�����	��	�������
������������������������
�����	������������
�	����	���>
��#����������	���������������
�	���������	��	�������	���
�����	�������$�����	���
�����	������	������	��������
��������	����������?�
��
+���O�������
��	�-��
�


���������	��������������
�������������
��
���
���	�������
�
����������	���
���������������	�����
���������?������������
@����������������������
�
����������	���
���������������	�����
	�������	����������
���������
����������������������
�	��
��������������

	���
��
P	�����	���������	�Q����	��
��	�����������������	���
����	�	���	���+���
�$�
�����������������@����
���������������������-��
�

�����
��������	��������������	������
�	����
�������=
� �������������	��+���	�����6�JJ:%#:������	�����-$
� ������������������	����+���	����6�H:A%#MM-�

��



�������������	���	�����������������������������������	������������������	����������������������������?�
��

 �������������	������������������	���������������	�����������������?������������@��������	
	����+�������������	��-���������������
���
������������	����	��	���$��������������$�����9<5���������������������	���������������������3���������������	�����	��������	����
�������	����������	����K��������?���
����������������������	�����	��
��������������	������	�������������	����������� $� G�����96�

����������	������������	���	�������	�������	�����
�	�����	�������������	���$���	�����������������	���$���	����������	����	�	������������	��
�����������
������	

���������������
������	�������	�	�	��������=
� ���������	���	�
������������	�����K���������������������	��������������>
� ���������	������	�������	�����K���������������������	���	�
����������>
� ����������
��������	�����K�������������������	����
�����>

!�������	�	���� ����=
(�������������	�����	���������	�������������	��������������?�����������@����������������������	������������������	�����

!������������ ����=
3�������������������������?��������	����	
	��

/������	�������������������������������������L������������?��������������������?��������������������������������������?����������������
+�	

��������	
�	
	���	�����������	�����������������������	���������
�������-�

���������	������������������	��������������?����������������������	���+�������������������	����������-��/������	�����������@���
��������������������������������?�
�����������	������������������	�����

���������	������������������	����������
�����
���	��������������������������������������	�������
���������	��
(��������	������������������	�����	�������	�������������������������

���������������������	�����������	���/���������������

	���
���	��������������	��������	�	���	���

!������	����� ����=
�����	��	���������������������������?������������������	��������������
	���������������������������	��	���

8����	

����������#�	
�	
	���	������������������������?��������������	������������������?����������������
���

	���
����	�����	��	������������������	���������������	����������	�	����������������������	���������	�	���	������������������������

+��������=�������������������������������������������������	�������	��K��������������������	�����������
��������������,-�

��



�
J�� ���������

�J�:��/����	
	���	���������������	�������
���������

�(D
�

� ��������������������	����
���
��������+ 9(-��
�

����������	���	����	
	������
��������	����
���
������������������
�����
��������	���
����������3(6��
�

�E��	
	����	����������	���
��������	��������
��
��������	�������������
3(6��
�
�
5	����������	���������
����	��$���������	�������
�	����������������	����
���
������������������
�����
��������	���
����������3(6��
�

��	��������
��������	����
���
���������������
��������
��������	���
����������3(6��
�

�(��������	���
�

�5	�
��
�

�����
��������	��������������	������
�	����
���������������������������	�����������������
�������3(6������������K������%D���	�%BBD����	
	�
�����	
�������������������������	�������
��������������	������������+�	��&����K��� 9(�'-����������
��������	�������������������%�����>
���������������	������������	��������81!�!�

!������������ ����=
/������	������������	����������������	�������
���������������������������	�����������	����������
��������	���3(6�

��



�
J�%����������	���������������	��������������������������������	�������
��������

(:B�
�

������	���������������	���
+�����������	���������
���������	��-��
�

����������	����	������
����������	����������
�����	�����������
��������������
��������	����
���
�������$��	����������
��������������������
��������
�

����������	����	�������	�
�������	��������
�����	���������������	���
����������������������
��������	����
���
���������
�

����	��������
��������	������
�����	����������
�����	���+�!6<3�
:%%H:RB%-��
���	���������	
	�������
�����	����������
�����	����
���	���������������
����������	������
�	��	���������������
����������	����������
�����	������������
�

�(��������	���
�

�5	�
��
�

�������	����:#N#A�������������3(6�����	��������	����	�	������������O���������	
����������	���������������	���
�����������	�����������������������������	�����������=
� �������������������	��������
�����������������$���	�����������	�����	
�����>
� ������������	�������������
�$�������������$��������
���������������
�����$���������	���
�$��	��	����������������$����������

������������	����������������
�����������	����������������������������
	�	�������������K������%D���	�%BBD�����	���

��������	���������������	�����	��K�����	����	������������	
	�����������	
	���	������
���	��������
������
����	��������K����������������������
����������	��$��������������������������	�����������K��������
�����������������������������
�������������������	���

!������������ ����=
���������	�������	������������������	���������������	������������������������������������������������

��



�
J�A��<�����	��������������

�(::
�

�<�����	����</9*����<�*��
�

����������	������������
��������������������
��������	��������
��������	�����"��������
�������������	
	���	������
�����������</9*�
+
�����	���	�	�	����
�	�	�������	
���	��-����
���	����������������������
��������<�*�+
�����	���
����	�������	
���	��-��
�

��������������������
���������	������	�������
������������	�����"����
�������������
����	
	���	������
�����������</9*����
���	����������������������
��������<�*��
�

�3�������	���</9*��
�
�
3���	��
��������
���	��������������	���
���
�����	������
��������������������
����	��������������
�

�(��������	���
�

�5	�
��
�

 �����������������������������������������������	����+���
��������������-���	�����	����	�	�����</9*�����������������<�*���������
H�����

!������������ ����=
(���������������������������	���������	���������������������	����������������������	
	���	�����������������</9*�������	�������

!������	����� ����=
(������������������������������������������<�*�

�(:%�
�

�<�����	���3(6�����
�������������
�

�5	����������	�����������	��������
��
��������	���3(6$������
�����������������������������
������;������
�����	������������
��������	�������
�����������
���	������������������������

�����	����

��������������������
���������	�����;�	�����
����
�����	�������������
�����������	����
���
�������$��	�
�������	����
�

�3���	��
��������
���	���������	
	�������
��������������������
����	��������������
�

�(��������	���
�

�5	�
��
�

��



 ����������������������� ����������� ��������	���� ����
����������	� ����	� ���	�	 � �� � 
�����	���3(6������������	��������	�	 ���������

�����	��������������������������������	��3(6�

!������������ ����=
(���������������������������	���������	��������
��������������	������������������	��3(6�������	�������

�(:A�
�

�<�����	���3(6����
�����������
�

����������	���
������������	�	�	��
�������������	������������������
����������������������	����
���
��������+����������
���	�	�����	
$������	���	��$�
�����������-������	���������
���
��������	
	����$����
������	��	����
���������������
��
��������	����
�

��������������
	�������������������
��������������
��������	����
���
������������
�����
�������	�	�	�������
���
���������	����	��	�
����������
��������	����
�

�3���	��
������
���
����������

�����	�����������
�	������������������
�

�(��������	���
�

�5	�
��
�

 ��������������	�����������������������������������	��������
������������
�������������	�	�	�����������
���������	����	��	��������
��
��������	���

!������	����� ����=
(������������������������	���	�����������������������������������	��������
�������$�����������������$�������������	�	����
�����	��

�����	����������
��������������
��������	������������������������	��������
��������

�
J�J��4����������������	
	���	���

�
�(:J�
�

�E��	
	���	�������
������������������
������	�����������
�������	���
	��	�	�������+!4/-��

����������	����������������
�������������������	
	���	���
�
	���������������������
��������������������
���	�����������������������

�/����	��������
�������������
���	
	���	������
��������������������
���	����������

�4���������
	��	������������	����
������
���	���+�����
P����?#�	��Q-���
���	
	���������

�(��������	���G�
E	�����
�

�!����	��������
�

��



� �������	���������	����������
�������	���	��	�	����������
�����	���+�����P���	���3(6Q-��
�

�����������������
���	���������	�������
����������	���
	��	�	����������
�����	����
�


������������
�����O����
3���	��
������

	�������������O���
�������	�������
�

4������������	
����$������	��������	
	�������������������������	
	���	��������	����	������������������	����	��������
	�������������O������
���	������

!������������ ����=
/������	���������������������������	
	���	�����������������������	������������	��������������	������

!������	����� ����=
���
�����������������O���������������
	�	��������������������������	
	���	���

�
J�H��(���������	����������������

�
�(:H�
�

�(�����������
�������������
����	
������
�����	����
�

����������	������	
�����
����������������������+���
��������	���	���-����������
����	�������	
���	������	�����
�����
��������	�������	
������
�
�
5	�����	�$����������	����������
����������������������������
����	
�����������	������������
��
	�	���������3(6��
�

�/����	���������������
��������������
�

�(������������
�����������
�

�(��������	���G�
�	�����
�

�!����	��������
�

��



�����
��������	��������������	������
�	����
���������������������������	�����������������
�������3(6������������K������%D���	�%BBD����	
	�
�����	
�������������������������	�������
��������������	������������+�	��&����K��� 9(�'-����������
��������	�������������������%�����>
���������������	������������	��������81!�!�

!������������ ����=
/������	���������������������������������

����������������������������������������������������������
��������	�������	
�����
��������	
�������	������������	������������������	��������������������������������	���

��������	
������������	��������	���������������������
	�	�������3(6�

�(:M�
�

�4���������������
����������	�������
�����������
�

����������	��������������������
����	�������
	�	�����������
��
��������	����+����������
3(6-����������������
����������������	��������
������	������������������
�

���������	
����
����	�����������
�����	��������

�����	����$���������
�������	�������
�

�����	
�������
����
�����"�
������
�������
�
3

	���
������
������������������
������������
������
�
����	
�����������
�����	��������
��������������	�����
�

�(��������	���G�
�	�����G�	�����	�S�
�

�!����	��������
�

�����	�����	������
��:������������������������	������	���������������	
�����������
�����"������
������+3(6-������������	
����������
����
�������������	������/�����	
	���
������������������������������������������
�����������

	�����

!������������ ����=
/������	���������������	
�����������
�����"������
���������	����

�������������������I�����
������������������

	�����
��������	
�����������
�����"������
��������������������������

��������	
����������������	������������������������

!������	����� ����=
��������	
����������������	�������������������������������������������	

������������������	�����	�S������	��������������
�����	�����

��



�
J�M��5���#���	������

�
�(:C�
�

����������������������
��������3(6��
�

����������	�����	���������	������
����������������	����������������
����	��������������	����������
�����	����
�

�!�	���������������	���
��������
���	��������
��������	
�������������
��������	����������������
�

�!�	���������������	��
��������
���	��������
��������	
������������
��������	������
�����������
�

�(��������	���
�

�5	�
��
�

��������	
�����������	�������������������������	
�����!:A$������	���������������	�������������
��������	
����������K����	���������������������������������	����!����������
��������������L������������������������
�
����������	�����	
�����#�	����������������������������������
!�������������#���	������������������$��������������������	��������������	�����	��K������	��������	������!6<3������������	���������
�����	����������5����	��$���	�����������������
�
���������������������	
��������������������������
���������������	�������#���	�����$���	����
���	�����������
��������������	����������������	����������������	
�����

!������	����� ����=
�����������������	���
�	��������������	���������������������$������������������������������	#�	�����������	���������������	����/������	�������

����	
��������������������	���������	����������	���������������	���

�(:N�
�

�/�
�����	�������
������������������
��������	����
�

����������	���
����	�����
��������	����������������������
����	�
�����	����������������
�������	������	��������
��
��������	�������	
������
�

�/����	��������
������������	���
	�	��
����	�
�����	�������
����������
�������	�������
��������	������
�����������
�

�4���������
��
������������
�������������
	�
�����	������

����	���������
����������������
�

�(��������	���
�

�5	�
��G�
�����	��������
�

�	



�����
��������	��������������	������
�	����
���������������������������	�����������������
�������3(6������������K������%D���	�%BBD����	
	�
�����	
�������������������������	�������
��������������	������������+�	��&����K��� 9(�'-����������
��������	�������������������%�����>
���������������	������������	��������81!�!�

!������������ ����=
/������	�����������������������
	�	����������	�
�����	������������������������	���������������	����������������

�
H��E����$�����
	���������������	���������������	��

�H�:��(��	����������������	���
�

�(:D�
�

�E���������
���
���	��������
�

�T�������	����������������
���	
��	������
�������	����
����	
	��������������	���
��������
������
���	������
+���
���
�	������������
�
�	����-�������������������
�������
���	�������+�����	�
�����	����������������	��-��
4������������������	�����
���
�����
���	�����$�	��
���	
	��������������������
��	�	�������������	�������
�����	����������������
����	�������	�	�������
���
���	�������
��
3���
������K������
�������
��������	�	�������
���
���	������=
��

�/����	��������������������

���	������������	���
���������������	������
�
!�������	���������
�������������	������
���	
	���	�������������	���
����	�	����������
���	������
������������	
	����
	��	�	��������	�������
����������������������
��	�����
�

�4������������
���	������
�����	���
���������������	������
��
���������	���������
�����������������������
�
E��	
	���	�������������	���
����	�	����������
���	������
������������������
����������	�����+����
��������������953������
��������	��������U��	��
����������������	��$����
��������������������
���������������K����
	�
�����	���-
!�
����	
	����	��	�	��������	��

�(��������	���
�

�5	�
��G�
�����	��������
�

�




#��������������	�
������	����������	���	����
���@������	���������������	��
��������
��	������
������	���>
�
�#��������������	�
��������	�	�����������O��
�����������	������
����
��	�������������	
	���	
��
�
�
���������	������������
���������	����
����������������������
���������������������	����
���
���	�����������������
���	�	���������������
��	�������=
�
�#������������������	
�������
�������������	�	����>
��
#������������������	
�����
���������������
���>
�
�#��������
��	�������������
��������	�	������������
���O����������	�����������
��������������������������
��
���>
�

��



�#��������
��	�������������
���������	����������	���	���
�����	��������������������
������������������
���>
��
#����	
���������������	�	���

����������������������
�	
����$�����������	�����
��������>
�
�#������	���	������������	���
���������������	�
�����	���
��������������������
����	�	��������	�	���	�������
���������������	����$����
�������	���������	�	��������
+!4/-��������	�	���	�������
�����	������
	������	��
+!E44"�4418-��
��
���������	�������
�
����
���	���������������������
��������������	������
�

������
����������
�������	����������������	����������	
	���	�����������������������	
��������������������=����	����6��%HJ#%B��������
����������������K�������	�	��$���������K������M�����	���%B:M������	
���������	
	���	
������	�����������������������	������������������	�������
���
����������
���&���
���	�����'��

�����	������	�������	���������������������	�������	�	����������
���	�������������������	�	�����������������������	���������
������������������
�����������������K������M�����	���%B:M������	
���������	
	���	
������	�����������������������	������������������	�����������
����������
��

��



&���
���	������'��3���
������K������
����������������	�	����������
���	�����$���������������	�������	����������	���	�������@������	���
�������������������	
	����	��	�	����$���	�����	����������
��	������������������������	���
3���
������K������
����������������	�	����������
���	�����$� ��������������	���������	�	�����������O������������	������������������
����	
	����	��	�	����$���	�����	����������
��	�������������	
	���	
����������������������	���
�� ���������� ��� �
���	�� ���� ������	�� ����������������	���� ���	� � ��������� �� � ���������	�� ��� ���������� ���� � ��� ������	�� �� ����
�
���
���	������������	������	�������������	�	�����������
���	�������

!�������	�	���� ����=
��������������	����������������������������������������������	�������	�	�����������
���	�������������	�����

(��������	�������������������
���	���������������������������	������������
���	����������������������	
	��������	
	����������������	��
����	�	����������
���	���������������"��������	���

!������������ ����=
/������	������������������������
���	�����������������	�����

����������������
���	�����������������	��������������������������������������
��������	���

!������	����� ����=
(���������������	��������������������������������	�����

�(%B�
�

������������
����	����������
�����	���
�

�3
	���������������������������
���	���������������	�������	���
���
���	���������������
��	������������	�	����
��	�
�����	���������
����	�	�	���	����������	�	������$�
�T�������	�����	���������
����	�	�	���	�����������������
�������	����������������	������

�3�����������	���������
�����	������
����	�	�	���	���������
���������������	�������
���������	��������
����	�����
�

�!�	
�����
����	��������������

	�������������������
�������������
���
���������	����������
�����	������������	��
����������
�

�(��������	���G�
	�����	�S�
�

�5	�
��G�
�����	��������
�

!����������������������������	
�������������	��������������
	�������������������������������
�������������	������$������	�����	������
�
���������������������������	������	������������	����/����������
	�������������	��������

��



!������������ ����=
(����������������	���������������	������������������	��������������	�	�	���������	������������������������	�������

��������	
���������������	������������������
	�������������

!������	����� ����=
�����	��������������������������������	��������������	������������������	�������	������	
�������������������	����������������
	���

���������

(%:�
�

<	�������
�����������
�����	���+<(5-��
�

���������	���
����	����
����	�	����������������
��������������
	��������
���������������	����������
���������	����������$������

��������	������
��������	�����
�
���������	�����	������
��������	�	�	�������<(5����
	������$������������������	��
���������������	�����
�	���	����������������

5��������������������
����	��������<(5���������
���������	���
���������������	�����
����������
�
������������������
��������	�������<(5�����
����	���������������
����������������
�

<(5����������	���
���������������	�����
���������������	���������
�
�
4�������������������	�����

	������������������
�����	���+<(5-���������	��
�	�����
�

(��������	���G
�	���������A�
�����	����	�����
�����$����
���	����
������	���
�

!����	��������
�

���������	�����	�������	��
����	���������������� ���<(5������������������	�������������!������	�������
����	���� ����	�	���������������
��������������<(5��� ����� ������	����� 
�	� � ��� ��������� ���	�������	�� ��	����������$ ���	������������� /� ���������
	� ������������ 	��������
������������������<(5�������������������	����$����������	���������������������������������	�����������������
����	��������	���	��������
���<(5�����	����������������������������	��$�������������������������������

!������������ ����=
/������	����������������������������<(5�

3��������������������	��������������������������	�������<(5�

��



!������	����� ����=
8����������<(5�������������������	�����

����<(5���������������������������	��������	�������	
�����
�����������������������������������������������	�������<(5���������	��������������������������

(%%�
�

/�
�����	�����������
�����	�����	�����
�

������	���������������	�������
���������������	�
�����	���
�������	����������������	�
+��������������	���$������
�����������������������	�	����
����	������V����-�$������	�����
�����������������
�����	���������$�����������	���
�������	�	������$�������������
���	������������������	���
	��	�	�������+!4/-$���������������
����	����������������<(5$�����
�����������	������
�	�����$����

���	��������������
����	����
���4����	���
4��������������	�����+!E44-�
�������4����	���
4��������������	�����1���
8�	�	�������+4418-���������	�	��
���������������������
���	�����
�������
�����
����
��
����	�����
����
�������������
�

		���������
��
	��
���
������
�����
������������
	��
�������	��
��
����	�����	����

	����������
���������
�
	
�
�����������
� �

8����������
��	�
�����	�����	���$�	��
�������	�������
	����	
	�������������
��	�����
�

8���������������	����
���������������������
�����������	�
�����	���
��	���������	����
�������������������
�������	�����	�	���	���
���������	���

5���������	�
�����	���
������	�	�����������=
�
�#�������	���������	��>
�
�#�����	��������������
���������
�����	����������>
�
�#������������!4/�>
�
�#���
���	�������!E44
>
�
�#���
���	�������
4418��
�

��������	�����
�W��

�

E	�����G�
	�����	�S�
�

!����	��������
�

��



!�������������	
	������	����	�����������������	�
�����	��������������	$������	����������������������������	���������$�������������!4/$���

���	�������!E44����4418$������	�����	������
�����������	��������������������	�������
������������	�������

/����������
	�������������	���������(����������$������������	
	���	��������������	
����$������	���������������������	��������������	�����������
���	�����������

����������������	
	���	��������������������������������	���	����������������������	�
�����	�����������������������������

����	�����������������������������	�
�����	���������	��

!�������	�	���� ����=
/������	��������������������	�
�����	�������������	����

!������������ ����=
���������������	�
�����	����������������������	��������������������	������/��������������	����	�
�����	����

!������	����� ����=
�������������	�
�����	����������������	�������	����	
	���������������	����

�
H�%��!��	������������������	���	��	�	�������

�
�(%A�
�

�!��	�����������
�������	���
	��	�	��������
�

����������	����������������
�������������	�����������
�������	���	��	�	�������
+!4/-������������	��	�����
�������������	�	���	����3�
��
���$����������	���
����	��
����	�
�����	��������������
��������������
���	��������
�

�����!4/���������
������	����	���������
��������$�����
���$�
����	�
�����	�������

����	�������	��������
���������	����
������	�	�	����
�

�4���������������	
	���	���
�������	����	�	�	�������!4/�
����	�����
����	�������
�����	���
���������������	�����
���������
*�
/�
�����	�����������
�����	����������	�	�	������
����!4/�
�

�(��������	���G�
�	�����
�

�!����	��������
�

��



��������	
����������K�����	������V�����
�W���������������	�������������������������	
	���	�����������������	�������!4/�������������	��
���������������	���� � �	� � �� � ������ � �����	���� � ���	
	� � ��� � ��� � !4/ � �	����	���� � ���� � �� � ��������	�� � ���� � ��� � �����	��
���������������	���������������������������������	���������!4/���������	�����������������

!������������ ����=
3�����!4/��������	����	��������������������	�������
��	������������	�
�����	����������������	����������������!4/�������
����	��

8�������	������!4/��	

���������������K��������	�����������	�	���	������������	������������������	�������������������
��	�����������
�	����	�������������������������������������������������

!������	����� ����=
8�������	������!4/��	

���������������K��������	�����������	�	���	������������	������������������	�������������������
��	�����������
�	����	�����������������	�����������������������������(����������$������	������������������������	��������	�����������������������	��

�����������	���	����

�
H�A��!���
	���������

�
�(%J�
�

�!���
	�������������
��������
�

�������
	��������������������
���

��������������������������
���������������	
������������
��������	�������������������
�����������	�����	

�����+64(-�
�

�8����
	���������
�����������������
�

�F	��������������
��
	����������������
�

�(��������	���
�

�!����	��������
�

������
	����������������������	�����

�������������������������������	����6�%HJ#%A�������������������������K�������	�	�����)����
	��������
����	���������	��������������������������������	�������	����������������������

!�������	�	���� ����=
�����
	��������������������������������������	���������

/������	������������	����������������������

��



�
M������	
	�������������	����������	������������������	�����+�!44-

(%H (	������������
��
�������!44�
���	
�������������
�������	���
���	�	�����	������
����	������
��������������
��	��	���$�����
�����
�����	����������
�!44������	�����
���������	��

���������	����	�������������
�#
�������������	����	�	
��!44���	�
��������������������������	�#
����������	����	�	
��!44����
��	��������������	���

�����
�������!44�������
������
����������������������	��	����
����������
	��������	�����
	�
�����	�������	����	�	


��������������	���������
����	
	���	����������������	�����
�������	�������	
�������
�	����	�	
��!44$�����������
��������������������������O���
�����
�������������������������
�������	����

���������
	��������	�
�������
	�	����������	
�
������
	��	
�
��!"����
�
	��	�#��$������
���������!"��

�����
�������!44�����
����
	�������������
��
	��������	���������
�!44

*�
��	
�������������#
�����	��

<	�������������

���	���������������
�	��	���������������
�������
��������������

4���������������	���
�������	�������
��	����	��	��������
	�����
���	������!44

(��������	��

!�����	��

5	�
�

�����������	�������	
��������	����	�	
��!44�������;�����������	����������	
	���	����������������	
��	�����!44$������������������	�	�����
����
��������
�	���������/�����
	�����������	���������������������	������������������	�������	�	����������
	����
�	�����$����)������	������
���	�������������������$����������	�������	������O����3������������%B%%$�������	���������������
	����������	������������������	����
���������������)�����	���	�������	����������������������	��������
���
�	����$����)������	������������	�������	������O���

!�����=������������������	�������	
��������	����	�	
������!44�����	�����������������
�������!44�
5����	����	����������������������������	��������	��=��������	�������������	
	���	��������A���	�

!�����=������
�����$���������������
������$�����������	����	������������
	��������	����������!44�
5����	����	����������������������������	��������	��=��������	�������������	
	���	�������������������������	�

��



(%M (	��������)���
�	�
����	����������
�����������������
���	�����������	���
��	������������
��
	�	�����������	���
�������	
	�����
������������������
�)�������	����������
���	����������	����
��	���������K����
��������

5	��������	
	���	��������������	�����
�������	���$�	�������K��������	������
������	�
����	������������������
�����������	����������������������
�	����	�	
������!44�

4��������������	�����������	����
���������	����=����������	�������	��
����!44������������	���	�������
���������	���	��$��������	�������
��������������$��������	������
������������������	��������
������	���
����

���	�
�������
�
����
�
�����	�
��
�
���	����	����
��	���
����	����
�
	�������������	��	��
�	����
�
������	�
��
��	�	�
��
��
	��	�
!"����������
������
����

�����
	���������
���
	��	
�
� 
%����������������
�
����	�
����
�
��	���
���
�
	
�
������
�

���	�
�����	������	�������
��	�
������������
	�����������������
��
���	��� 
������&
�����
��
����������
����
����

���	�
���	��
���
�
	�����

�����
�����	���������	�
��
��	�
	�
��
��
	��	��
	���
���	 

����

���	�
����
	���
����������	���	�
�������
	�	����������	�
�
����	�!"�������������
����	��������	�
��
��	�
	�
��
��
	��	����
�
	��	
�
��#���������
�����	������	�
�
	���
���	����
��
���
����
��
		���������
�

���	�
�$ 

������&
����
��
���
	�
��
��
	�����
	�
�����
���������
�����������'���
�
��
���
�����	�������
�
	�
�����	�����
�
�
��	�	����
�����
�	�	������	�
�
�
���
���������
��������	�
��(��	�������
��	���
�
��������)�������
�
	�	 �
�������������!"���
������	���	�
����	�
�
		��	�������&
����

��
���	����
��
���	 

�

*

���	�
��!"���

�������������	
	��#
�	�����������	
��	���
�!44�%B%:�+���
������	����-����
���������������
������������	������#
�	
	�����������	
	��#
�	�����������	
��	���

�	�����������	����
��������	����������
������������	���#
���������	�
����	��
�

*�������

��
G�/�����	�S

!����	�������

���� � ���	��� � ��������	���� � �� � �	����	�	
 � ��� � �!44 � ���� � �	����	���� � � � ��������� � ��	������=
�����=""��	���
�	��������
����
�"����"X"�������"��#
	�������	��� �� �*����������	 �
��
��	�	��� � �����
+������ �
'�����	 ��� ��

���	�
� �����

��������������������������������	�����
��	����
��
������	���
���
�
	
�
�� �!���

��	�
��
��	�	�
��
��
	��	�	����	���
�
���	�����
�
+��	

�	



����������
���#�
�����
����
�����������
���	��������	��,$�������	�����������������������
���������������������
	����������
������	
�-���
����&
�
��
	� 

!�����=���������	�
����	������������	��������������������	
�������	����	�	
�>�����	�
����	�������
	�	���������������	����������	���+��
������	������������	��������������	���K�������-

5����	����	����������������������������	����M���	��=��������	�������������	
	���	��������A���	�

!�����=�����	�
����	�������������������	
��������������������	������������	������	����	����������������������������	���	���
5����	����	����������������������������	����M���	��=��������	������%���	�

(%C (	��������)��
�����
������
	����
��������������
��������
�	�
����	����	

	������
�	
����
�	�����	����
�������������
�)�������	���
�)�����	������
�!44�������
�������������
������

5	��������	
	���	��������������	������������	���$�	�������
K��������	����������������������
	��������������������
�����������	�����������������������	����	�	
������!44�

��������������
	�������������������������������
�	�
����	���������������������������������������������
������	���	����	
	�����������������������	���������������
��������

(������������Y���������	
�����	�
��	�����������	
��	��$�
���������	����������V������������	����
�����������	�����
	�������������	�$�����������$�������
����������$�������������$��������	������������	��������
�����������	�����������������������������������	���
��	��������������
�����������	���
���������������	�����

��������������
	�����)	����	��������������������
������	����	�������	���$����
����	�����������������
�������������
��������������	
��

/��
	������������������	�����������	�������������	
����

��������������
	����
��	����������������
�����������	����
�������������������
�!44�

��������������
	����
��
	�	�����������	
����
�������	����
	����	
	�����������
������	�$���������
�����	����������
�����	����
��������	����$����
������������������
�	�
����	��

5	��������������
������	
���	������
���	����
��������	�����

4����������
	���

�������������	
	���	���
��������	
��	����!44�
%B%:�+��������#
�	����-��������������#
����������������#
�	�������	
	��������
���	
	���	�����������	#

��	���

�����!44���������
����	���������������
��������������	���#
�	���������������#

	��������	�����	�
��#
���	����

�	�����������	����
�����������	����
�	�������V�����

(��������	���	�
�

�




����	���	���������	���������������	����������������V�����
�������������	��

�������	�������	��
������������K�������	����=���������

�����	��$�����	�	��$�������	��$�,

��������������
	�������������������������	������	�
�����	����������������������������	�������)������	���
����!44$������������������������������������

3��	���������������������=�
�"��������	���	������������������������	�	���	���������
��������������������$��)����	�$�����������	������
��
��������	�������������������������������
��������	�������������	������������������	��������
���������)���	�������%HJ#M#J�������������������������K���
���	�	���������)������	
���������	���������
��������
���������������������	������������	���������	����	�	
�
�����!44�
�-�3��	�����	�����������O�����
	��������	�������������
�����	���������������	��������������	�	���	���������������	

�����������������������
	��������	�����
�- �4���	�	���	������������	���� 	��	�	�����������������#
�	����������������������	��������
�������	�������������#
��	�����������	��	����
�
3��	�������������	���=
�-��������	��������������	�	���	������������	�������

�����	��$��������������	���������������	��$���
����	���	���������	�	�������$��������������������������
��������	�������������	������������������	�����>
�-����������	��������������������������������

������	�������:BB�Z$�
�������������������	��
������	�������MBZ$���
�����	
��	���%B%:�+���
������	����-$�������
�������	����
�����������	����
��	�����K������������
�
	�������������	��
�������	����
��������	�����������
����	�	�������
�����������������
�	����	�	
�

����������������	
�
	��
����������������	���
������������������$
��������������
	����
�����	���������	����
�������	�����������
������	��

��



����	
	���
�	����������������������������	���
���������������	�����+[������������
���	������������$��
�	���������	���
	�������
����	
	���	�������	����������������
���������������
���	�����������	���-�>

-��������	������)	�����	������������������	�	��������

	�������������	������
��������������������	����
��������	���������	����	�	
������!44�

!�����=�������������������
	��������������	��������������������	
�������	����	�	
�>���������������
	���������
	�	����������	
�������	������
�!44�

5����	����	����������������������������	����M���	��=��������	�������������	
	���	�����������	����	�

!�����=��	��������������������	
������	�
��	������MB�Z���������	
��	������	
	����������������%B%:�+������	
��	���������	�������������������-���
�������������	��������������	����������������

5����	����	����������������������������	����:%���	��=��������	�������������	
	���	����������������������������	�

!�����=��	��������������������	
��������	�������:BB�Z���������	
��	���%B%:�+���������	����-�����������������	��������������	����������������
5����	����	����������������������������	����:%���	��=��������	�������������	
	���	�������������������)�����	��

(%N  ������������	���
����	
	������	�����
������������������

�����	���������
���������)	�
�����	���
	����������������������
��
�������!44������L�
����	����	�	
$����
�	�
����	�������������
������
	�������
�)�������	���������	����
����!44�

�����
������������������������������������
�	�
����	�������������������
	�������	��
��L��	���

�����
�������������
��������������������
���������	��������
�	�
����	�������������
������
	����
����	�
����	��������
�����������
	���������
�	�����	����	�	�������
����������	�
�����	���
	�������������������	���
��������������	����
�����������

!�����	�����������
��
�����

!�����	��

��



!�����=������
������������������������������������������������	���������	�
����	�������������������
	�����������������������������������
�	����	����������������������	�
�����	���	�������������������	���

5����	����	����������������������������	����M���	��=��������	�������������	
	���	�������������������������	�

(%D ���������	����������
�������������	����
�	����������������	���
����)��	�	���	������
�����	���
���������������	����
����������
��	�	��������
�	����������������
����������	�������
�����	���������
�)������	�������!44$���
�������	�����	�������
���������	�	�	���������
�)����������	
���

E��	
	����	����������	��$���������������	����
�������������������	����	�	
��!44$����	�����
V�������

	�������������������������	�	#

������

E��	
	���������������	�����V��������������
���	�����	����������������	����������	�	���	�����
�����	������������������	����$������#�#�	���
�������	���	����������	������������	�����
�!44����������	�	�	�������!44��������
������������	
����������������	��������	�����
����	����������
	��������	�����	�
�����	���
�����!44���������������������	
	���
E��	
	���������������������������������������#
�	�����������������������������������������#

	����

6���	���	���������#
�	������������������#

	����

4����������#

	���
�
!�����������
����	���	������
�����������#

	���$�����#
�����������#
���������������
����������	��#
�	���������#
�	���

(��������	�� 5	�
�

!�����=����������	������������	�����V������������������

	���������������	������������	
��	���
5����	���=��������	�������������	
	���	���������������������A���M���	�����������
���	��������	���

	������������������	�����V�����

��


